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CHAPTER : 5 : WEATHER AND CLIMATE  
 

 

 

 

     
 

Answer : 1.    d          2.   b        3.     b       4.   a     

  



 

  

Answer :   1 .Climate       2. Five              3. Slanting   

 4. Moderate       5. Frigid  

  

 

               

      Answer : 1. Because the sun's rays hit the earth's surface at a  

higher angle at the equator. e. Because the sun is always directly overhead 
at the equator.                        

2. a. Weather refers to short term atmospheric  

conditions while climate is the weather of a specific region averaged over a 

long period of time.  



                                           b . moderate climate is neither too hot in summers 

nor too cold in winter. Extreme climate, summers are too hot and winters are 

too cold. 2) Moderate climate is found in coastal area whereas extreme 

climate is found in inland areas                       

3. Chennai lies on thermal equator and also in the  

coastal area. Effect of sea breezes is also one of the major reasons for 
the Chennai have a moderate climate and it does changes often to many 

number of other aspects   .                  

4. The winds affect the climate because they create  

the hot and cold air which moves around. Prevailing winds affect the climate 
of an area. ... Thus, winds bring in heat/cold from the direction it has been 
blown from and thus change the temperature of the place which affects the 
climate.                         

5. In the tropical zone, the temperature ranges from 0  

degrees to 23.5-degree centigrade. In the subtropics zone,  

the temperature of climates ranges from 23.5 to 40-degree centigrade. In the 

temperate zone, the temperature of climates ranges from 40 to 60degree 

centigrade  

D.  Think and answer.  

  Shimla and Ludhiana are almost at the same 

distance form the Equator. Then, why is 

Shimla much colder then Ludhiana ?   

    



  Answer : Answer: Though Shimla and Ludhiana lie 

at the same distance from the equator, Shimla is 

colder because it lies at a high altitude.   
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